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A closed section of a wire in the shape shown in bold in the figure below
carries a uniform current I counterclockwise. This section of the wire lies

completely in the plane of the paper

Figure for Problem #1

The figure consists of three-quarters of a circle of radius R and two straight
lines, both of length R. Determine an expression for the magnitude and
direction of the magnetic field at the point P (small circle) indicated in the
figure. You final answer should be in terms of just ug. I and B.
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Three long wires carry currents Iy, I and Iy with I; coming perpendicularly
out of the page through the point (—a.0), Iz going perpendicularly into the
page through the point (0.0). and I coming perpendicularly out of the page
through the point (+a,0). A fourth long wire carries a current 7 and passes
perpendicularly through the page at the point (+a.+b). If I, =50 A, a = 3
mand b= 4 m, determine J; and I so that the total magnetostatic force
on I due to Iy, Ip. and Iy is zero.





